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a1 A B fE % &Y, =¥
1] 900 ~ 935 15326 VS £ Ix
2 | 940 ~ 10:15 Lk VS f3ELL 15,326
3 | 1020 ~ 10:55 IR VS 2§ 3 t3ELL
4 | 11:00 ~ 11:35 i VS 15,326 2
5 | 11:40 ~ 12:15 IR VS f3ELL L
6 | 1220 ~ 12:55 S VS 2§ 3 t3ELL
7 | 1300 ~ 13:35 15,326 VS IR L
8 | 1340 ~ 14:15 W3ELL VS £ 15326
9 | 1420 ~ 14:55 S VS IR 2
10 | 1500 ~ 15:35 15326 VS f3ELL I
11| 1540 ~ 16:15 A1{L VS B1{i A3{iL
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a1 A B fE x Bk =¥
1900 ~ 935 &0 VS [5JSC AW
2 | 940 ~ 10:15 JLEEFC VS BESE &%
3 11020 ~ 10:55 AW VS J5JSC GEES
4 [11:00 ~ 11:35 JLEEFC VS &= J5JSC
5 [11:40 ~ 12:15 AW VS BESE JLEEFC
6 | 1220 ~ 12:55 LEBFC VS [5JSC GEES
7 [13:00 ~ 13:35 &0 VS AW JLEEFC
8 [13:40 ~ 14:15 BE VS [5JSC &=
9 | 1420 ~ 1455 NLEEFC VS A J5JSC
10 | 15:00 ~ 15:35 &= VS BESE A
11| 1540 ~ 16:15 A2{L VS B2{i B3{i
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